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1. 23X 52 =2714M
LE|L}R HB.0XR30 | 1 | = 2,955,331 2,955,331 180,344 28,074 28,074 3,163,749 3,163,749
CE|L} H4OXR22 | 1 | F 1,325,236 1,325,236 124,302 17,850 17,850 1,467,388 1,467,388
CE|L} H5.0XR20 | 1 | = 1,175,806 1,175,806 101,031 8,510 8,510 1,285,347 1,285,347
T AH[A 5,456,373 405,678 54,433 5,916,484
2.2H 8 = 2| % 10.9% 44,219
3.7|EtAH] (M 28|+ H[)x5.5% 324,845
4. ka2l TS AMH|X6% 354,989
ey 6,640,536
5.0 2 (Z=H-xH 2H])x15% 176,771
6.227}H 6,817,307
8.2 I7XIAM| S=7H%4x10% 681,731
9.5 3 AH| 7,499,000
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1. E|LF
LELLE H6.0XR30 1 = 2,890,000 2,890,000 2,890,000 | 2,890,000
TEE 0.74 2l 147,733 109,322 147,733 109,322
HEF 0.28 2l 109,819 30,749 109,819 30,749
Evd 0.6m 1.10 hr 15,555 17,111 28,259 31,085 18,070 19,877 61,884 68,072
EHEE T 2l 158 0.36 hr 16,500 5,940 25,520 9,187 22,770 8,197 64,790 23,324
XF== Afdfol, 1=2700 1 ES 17,000 17,000 17,000 17,000
S8 2 HARHE 40 kg 632 25,280 632 25,280
2~ A 2,955,331 180,344 28,074 3,163,749
2. E|LHR
LEILLE H4.0XR22 1 = 1,283,000 | 1,283,000 1,283,000 1,283,000
=43 0.50 2l 147,733 73,867 147,733 73,867
HElF 0.21 2l 109,819 23,062 109,819 23,062
Evd 0.6m 0.77 hr 15,555 11,977 28,259 21,759 18,070 13,914 61,884 47,651
E=ERE 322l 108 0.22 hr 15,450 3,399 25,520 5,614 17,890 3,936 58,860 12,949
XF== Afgfol, 1=1800 1 ES 7,900 7,900 7,900 7,900
eSS HARHE 30 kg 632 18,960 632 18,960
A~ A 1,325,236 124,302 17,850 1,467,388
3. LE|LHF
LELbE H5.0XR20 1 = 1,145,000 | 1,145,000 1,145,000 1,145,000
=43 0.42 2l 147,733 62,048 147,733 62,048
HElF 0.18 2l 109,819 19,767 109,819 19,767
Evd 0.4m 0.68 hr 15,097 10,266 28,259 19,216 12,514 8,510 55,870 37,992
XF== Afgfol, 1=1800 1 ES 7,900 7,900 7,900 7,900
S8 2 HARHE 20 kg 632 12,640 632 12,640
2~ A 1,175,806 101,031 8,510 1,285,347




HEEZH(2018)
s1(ZY)HE
=432 2Eols(2l) ZA7((HR) {2l (HR)

40|35 0.110 0.060 - -
5(6) 0.180 0.090 - -
6~7(7~8) 0.280 0.140 - -
8~9(9~11) 0.200 0.120 0.390 -
10~11(12~13) 0.260 0.140 0.460 -
12~14(14~17) 0.330 0.160 0.560 -
15~17(18~20) 0.420 0.180 0.680 -
18~19(21~23) 0.500 0.210 0.770 0.220
20~24(24~29) 0.600 0.240 0.910 0.280
25~29(30~35) 0.740 0.280 1.100 0.360
30~34(36~41) 0.890 0.320 1.290 0.450
35~39(42~47) 1.040 0.370 1.480 0.530
40~44(48~53) 1.190 0.410 1.670 0.620
45~49(54~59) 1.330 0.460 1.870 0.700
50(60) 1.420 0.480 1.980 0.750
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=9 H2CIHE) b0
CEREIIRS 632
HlZ
e 319
oIt 2,600
a2t 5,000
ES= ah2t 7,900
Azt 17,000
Ab24 (L1800 20,800
B XS ABIE
& H 9% 2= (m) 81 N==
H3.00I Gt R5. 01=2f, L1200
e H3.1~4.0 &2+, L1500
H4.1~5.0 R10~24 &2+, L1800
H5. 101 &k R31014¢ &2+, L2700
H =S ANHZ ABIIE
S 210 (H) 22Z(R) ALBI (kg) Hl o
72 (m) 72 (cm)
H1.0~2.0 R701 5}
H2.1~3.0 R8~9 10
H3.1~3.5 R10~14 15
H3.6~4.0 R15~24 20
g H4.1~5.0 R25~30 30
H5.1~6.0 R31~39 40
H6.1~7.0 R40~50 50
H7.1~8.0 R51~60 60
H8.10] &k RE1014¢ 70
H0.5015t
HO.6~1.0
2 H1.1~1.5
H1.6~2.0
H2. 1014
B AHEII ABIIE ALEFBL (N
2= (m) (=) =2 24| eflel
A 0.4m -
- 0.6m EHEMHE TN 10E
- 0.6m EHEMHE I 15&
- o.6m Y QI(ELOI0]) 25~50E
B HEI1 SHIds b7 AMTAF HHRIE)
Z H 9 7 e M 2 C el Z g
ERHICE= 0.4m 15,097 28,259 12,514 55,870
A7) 0.6m 15,555 28,259 18,070 61,884
EYEHEIY 10ton 15,450 25,520 17,890 58,860
EYEqEay 15ton 16,500 25,520 22,770 64,790
2| 2(Eto]of) 25ton 10,598 28,259 48,466 87,323
32| 2(Eto]of) 30ton 13,378 28,259 49,716 91,353
=2 2(Eto]of) 50ton 19,625 28,259 79,894 127,778
BEL o NG ¢ 2018 Y| AIE TYEI})
= of
147,733
= 109,819




